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Choose the wrong statement on the Constituent Assembly

1. The constituent assembly was set up under the Cabinet Mission Plan
1946

2. The assembly consisted of 292 members representing the British
Province, 93 from Princely states and 4 from the Chief Commissioner
Province.

3. The assembly held its first meeting on December 6, 1946

4. The assembly met for 21 sessions along with 161 days of meeting

a. 3 only b.2 and 3 only c.1and 2 only

d. 3 and 4 only e. Answer not known

SIFFWevenIolil] HITeIIFmL GBS HOUBTET FnBBIHENET H6uwIL MlH

1. Gxliler.  Wegest  FHLb  1946-e1 L, OFFluwevenioll  HliTewTuIFemL
9 (HeUTSHSBLILIL L &.

2. odlweusmioliL] mliTewiigenL eteiilgl 292 Ml gad wwrsmen o mliilerniser, 93
F8HF HIPFH6N IOBWILD 4 (PHETENID OTHTET 2 MILLIETITHM6T OBT6wIL Sl

3. gemuullell (P&H60 Swnl L LD 19&FLOUT 6, 194660 HewL GLBBSI.

4. gewll Sl LID 161 BTL&H6T 21 DIDTEYBEHL T HenL OILIBMSI.

a. 3 L (Bid b. 2 wBmib 3 1o BHib c. 1 iBpid 2 oL Bid
d. 3 oBmid 4 w1’ Hb e. el OFflwaiedemnsv
Match the followings

(Amendment Acts) (Territories becoming part of Indian Constitution)
A.10th 1. Sikkim

B. 12th 2. Goa, Daman, Diu

C. 14t 3. Dadra and Nagar Haveli

D. 35/36th 4. Pondicherry, Karaikal, Mahe, Yanam
A B C D

a. 1 2 3 4

b. 3 2 4 1

C. 3 2 1 4

d 3 1 2 4

e. Answer not known




CUTHHHIH
FU L SIS SHISE BhsHw odwevmliiar ugdHwns wrpuw LyCsHamise

A. 106ugl 1. fedHib

B. 126usl 2. @ameum, LITLDGIT, 6mL_UJ,

C. 14eug) 3. &THIT BB BIHT anGealed

D. 35 / 36eugl 4. urewng&Ga, sTemIsHHTeL, WTGAM, WIT6TLD
A B C D

a. 1 2 3 4

b. 3 2 4 1

C. 3 2 1 4

d 3 1 2 4

e. alewL. OFHflwalsdensn

3. Choose the correct statements about the Preamble of the Constitution
1. The objective resolution proposed by Pt. Nehru ultimately became the
Preamble.
2. Tt is not justiciable in nature.
3. It cannot be amended.
4. It cannot override the specific provisions of the Constitution.
a. 1,2 only b.1,2, 4 only c.1,2,3 only

d. 2,3, 4 only e. Answer not known

SyFlweventoli e (psliengullesr SigliLent uled FHWTeT SmBmISHeneNT SHTewIH

. Crem wetOwmfhs GBlECsTeT SHTOTHICL BBIHUled (LPSLILEDTLITETS

2. B3 aupsHG OCHTHHS BUIOTH HeIeDID 6IHTEIIL F

3. @wd HHSHHD CFLILIIPIQUITS

4. @z SFweomlier 6hdH @b  GBUUILL  FapISemenud  LBohoHemnldhas

[E—

Suleorg
a.1, 2 wl (B b. 1, 2, 4 w @BW
c. 1, 2, 3 w @BwW d. 2, 3, 4 w @B e. alenL OFHfwalsvensv

4. Choose the correct pairs

1. 17t state - Haryana

2. 19th State - Manipur

3. 21st State - Megalaya

a.1,3 b.2,3 c. 2 only d. All of these
gllwrenr Fnmmisemen GHiTe

1. 176ugl THleVLD - emfluwimeotT

2. 196ug| LOTHl6VLD - LDGUOTILILLT

3. 2leugl LOTHI6ULLD - Guwsmeowr

a.1,3 b.2,3 C. 2 1o (bib
d. Bmel SEMaTHHID e. alewL Oxflwaisvenev
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Consider the following statements with regard to the functions performed

by the constituent assembly

I.  Itadopted the National Flag on January 24, 1950

II. It adopted the National Anthem on January 24, 1950

II. It adopted the National Song on January 24, 1950

IV. On 24t January, 1950 the Constituent Assembly held its final session
of them.

a.lis true b. I and III are false c.Iand IV are false

d. II, Il and IV are true e. Answer not known

SITFWIGOMIOLIL] [HITewIWl FenLuTe LiewldeT OSHTLTUTET FnBBIbenen SLUIS

L. mereufl 24, 1950860 Cahdlw OFmgenul gBMmIGHOSTEIL Sl

II. egeeufl 24, 1950860 CaprFlw HHHMSH GBMIHOBTERIL Sl

III. eemeufl 24, 1950860 Cxhdlul UTL 6L GBMIGOHTERIL ).

IV. eoemeufl 24, 1950860 opdlued [Hitewil FedU DHST BpIFH Tl L HmD

BLSSUIS).
a.l a1l b. II wngd 1T seum c.T wmmpd IV seum
d. IT, III, TV & e. alen_OFfluwialedenev
The order of following words seen in Preamble is
1. Democratic 2. Socialist 3. Sovereign
4. Secular 5. Republic
a.3,2,4,1,5 b.2,3,4,1,5 c.3,2,1,4,5
d.3,1,2,5,4 e. Answer not known
SHIPSHHTEID CFTBH6T (PHLILTUIED 6lhd eauflengulsd @ 1D GuBIeTeTes?
1. &HenTL & 2. FLOGITIOWD 3. BemmuITeIenLD
4. 10&FTT6IemLD 5. GQUWIEH
a.3,2,4,1,5 b.2,3,4,1,5 c.3,2,1,4,5
d.3,1,2,54 e. alenL O flwalsvenev
Which of the following article authorises parliaments to from a new state?
a. Article 2 b. Article 3 c. Article 4
d. Article 5 e. Answer not known

Ueteupld  alglselled e1g LHW  OTHSHMSH 2 (HeuTdhs  LITJTEHLOSTBHIHMBE
DPHBMHnSH DleNbHmg?

a. elg 2 b. aigh 3 c.alg 4

d. aig 5 e. alewL Oxflwaisvenev

Consider the following statement Relating to Drafting Committee

I.  The Drafting Committee prepared the first Draft of the Constitution of
India, which was published on October 1948

II. The Motion on Draft Constitution was declared as passed, by the
Constituent Assembly on November 26, 1949 and the signatures of the
members and the President were obtained.
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10.

Of them

a.lis true b. Il is true c. I and Il is false

d. I and Il is true e. Answer not known

AUMIOS G OBHTLTUTET FnBBIBEN6T DUIH

L. AUMISHGI BOhHu  SFFwevemolle  (PHL  eumIaleneT  HUWITTHS
OIHELTUT 1948860 Glauelull L G.

II. opflwempiiar aemye BIDUT 26, 1949860 SFFluleuemIolIL] [BlTeuorul
gemLWTeD grwomerd HeopCauBplil(h  HeweveuT LOB@ID 2 W NeonTer 6T
SO UL L .

Geumiei
a.l &l b. I &l c. I wppid II seum)
d.I wsmw I oM e. alenL Gz fNwaledeamev

Which among the following statement regarding the State is incorrect?
I.  The state has fixed Territory.

II. The state has the Power to enforce laws

III.  The state is a social organisation.

IV. The scope of the state is limited.

a.l b. I c. III d. IV e. Answer not known
OF UBBW SBrled, SHDEHHENIL aITHSHUISHED HAIBTEIH 6157

L. O&HEG QH Hleweowlmen HleolIugli o 6wl

II. orfBe FlLmsmen HOL(WOBUILGHHID DIHBTID 2 _6Teng
III. opa e@LUE @Mh Fpd ST

IV. spdlar eevemev auenuIpIsbsILL L &)

a. I b. 11 c. I1II d. IV e. el O fwalsdensy

Match the following

List I List II

A. K.M. Munshi 1. Keynote to Constitution

B. Ernest Barker 2. Most precious Part

C. Pandit Bhargava 3. Horoscope of our Sovereign, Democratic,
Republic

D. Justice Hidayatullah 4. Resembles Declaration of Independence of
America

A B C D

a. 3 1 2 4

b. 3 1 4 2

c. 3 4 2 1

d 4 2 3 1

e. Answer not known
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11.

12.

13.

CUTHHHIH

A. KM.wsiag 1. odwevenioliien FmyLd
B. earftedterdl. Ui 2. 0&(LPSHSUIDTETLIGEHS
C. uewngl. uMT&HeUT 3. ©BWITERIENID, DEIHTUWISLD, GlQuiTL gl

SIS WIBNlETT QiHL LD
D. paugsm @swgieoeor 4. 96flas pdulevemiolil] FL L g6
(PSLLDTMW  SHBHIETEN)

A B C D
a 3 1 2 4
b. 3 1 4 2
c. 3 4 2 1
d 4 2 3 1
e. alewL  OFMwaledemnev

The state of Jammu and Kashmir was made an Union territory of India with
effect from:

a. 26th January , 2019 b. 5t august ,2019  c. 15th September ,2019

d. 31st October, 2019 e. Answer not known

WD — STOJOT IHlevd 61IBUTEH wpeiwen LIFGaHFwTd SPialdbaliul L g)?

a. 26 xareufl, 2019 b. 5 eymev® 2019 c. 15 Gatibuir 2019
d. 31 &&GLmur 2019 e. alenL. Gz fuialsvensv

Identify the incorrect pair.

a. States Committee - Jawaharlal Nehru

b. Fundamental Rights Sub-Committee = - H.C. Mukerjee

c. Steering Committee - Dr. Rajendra Prasad

d. House Committee - B. Pattabi Sittaramayya

e. Answer not known
SHoumpment Gxmgenul SHeusTL_lb.

a. LOMHIeVRIGET G (LD - mauamieuTed Gh(h

b. ol o MNenpdHelT Hienewteb@ (D -H.G. a1

C. Buwdbsd G - LrsLT. @mCmpbaly Ursms
d. semen Gap - S emd Fgmymouium

e. alemL g wealedensv

Match the following

A. Art1l 1. Power to admit new states.

B. Art2 2. Laws under Art 2, 3 not constitutional amendments.
C. Art3 3. Alter boundaries of states.

D. Art4 4. India is a union of states.
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14.

15.
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e. Answer not known

QUTHSHHIS.
A. a1z 1 l. ygw WIHEVHEIGM6NT DIMIDHHGID DISHSTJTLD
B. agysHa 2 2. 9IHSB 2, 3 &1 S 2 6len FLLMIS6T DIFSFUIeVenLOLIL]
H(HSHHHIBET  HIGL6L
C. ag9153 3 3. MHlIeVRISETIET 61606M60HMEN  LOTHBNHISH6ED
D. agrsHa 4 4. ®HAWT THlevkIGeN6T eesTsluiLb.
A B CcC D
a. 4 1 3 2
b. 3 2 1 4
c. 2 1 3 4
d 4 3 2 1

e. alemL O fwalsdenev

With respect to the objective Resolution of the constituent assembly

consider the following statements.

1. The Preamble is based on the Objective Resolution moved by Jawaharlal
Nehru in the Constituent Assembly on December 13 1946.

2. The Resolution was adopted on January 22, 1950

Which of the above statements is /are correct

a. 1 only b. 2 only c. Both1 & 2.

d. None e. Answer not known

ofwed  mHijeorw  Feouwler  (phHWSH  FHwmeld  GeHTLIuTs  Lleeumd

FnBBIBHMENTES HUIE.

1. (peiigienywimendl, l&Fbuy 13, 1946 9 Odfluisd  mHifewiul  Fenuuled
6B ELTEL EGRILEY (LPEITEmEUSSBLILIL L GUEIEE 0 SHILOTETSHM D
SIQUILIHL_UWITHDH OBHTE0TL G

2. 19500 oyemwih evteufl 2210 Cg) Hijwmend HlewpGeuBmriL L Gi.

BGBsv O&ETHGHBLILIL (HeTen dmBmIBeiled elemau / e1ghl Fflwimereneu?

a. 1 (B b. 2 wl @ c. 1 & 2 @yewi(id

d. gsdevenev e. alowL Oxfluwaledemed

The state reorganisation commission established in 1953 was headed by
a. KM Panikkar b. HN Kunzru c. Vallabhai Patel
d. Fazl Ali e. Answer not known




195360 Pi@eululL  OTHe0  DBISTEOIONL]  SLEMEUTUWID  WITT  $HenevenLoulled

DIMIDSHBLILIL L F.
a. KM ueisai b. HN @eierd C. aueveoLITU1 LIGL 6
d. ".used 9160 e. alewL Oxflweaisdenev

16. Consider statements and choose correct option.

I.  B.N. Rao was appointed as advisor to constituent assembly.

II. 64 lakhs was spent to frame constitution.

III.  Constitution making was spread over period of 2 year, 11 month and
18 days.

IV. Original constitution are preserved in Helium cases in library of
Parliament of India.

V.  Original constitution had 395 articles in 22 parts and 8 schedules.

a. I only b. L, Il and III only c.Iand II only

d. All the above e. Answer not known

SIPHOBTHHBUILLL  aleuImiBeMed 2 6WINOWITET  SHBHEUDHMET  Hewil BbHS|
GSMILILTIL 6Lb.

L. B.N. gmeil oppdluisd mitewiul Femuuiler L060TFSITS HIUILOSSUILIL LT

II. opflwe PiaTwFs D 2 (HauThbs 64 60U Flb GFevaITRIS]

II. spdfwe mitewlF FULID 2 (HouThbd IBSHHIS OBTERIL STV 2 aImBLID 11
LOTSHLD 18 [bmel

IV. epeoliiys) (oduied oemwiiyg  glLib)  efeduwd  Guliguied  eneughgl,
BTLT@EHLOGIHB BHITELHHH60 LTHISTHBLILBHH MBS

V. apeol UHgguied opfuied mitewwdF sl gHeo 395 Ufley 22 ugdHser 8
SIL_L_616D6WTEHT  E)(hHHSH60l.

a.l wl @G b. I, II wmmpup 11 c.l wpmb 11

d. smaissn Fi e. alewL O flwaisvenev

17.  Which of the following statements are incorrect?
1. The preamble is a prohibition on the powers of the legislature
2. Preamble is not a part of the constitution.
3. Preamble cannot be amended as it is a part of the basic structure of the

constitution
a.1& 2 only b.2 & 3 only c.1& 3 only
d1,2&3 e. Answer not known

LNeiTou(hd FnBmIH6Ned 61&H HauBTerigl?

1. (pTemIen] FLLIDGIBSHHAT DHBTITHISHEHDHEG HoL alHILSTEGLD.

2. (WSITEDIDT DITFWLUMILILNET Q@H UGHHWTSH E606m6L.

3. (peiiemieny  OFweveniolifledt ool SULenWINET  @@h  LUGHWTH
BEUUSTO s HBSS PYUITS!.

a. 1 & 2 (b b. 2 & 3 wl @b c. 1 & 3 @B

d 1,2 & 3 e. alewL O fuwaledemnsv
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18.

19.

Match the following :

States/UT Year
A. Nagaland 1.1972

B. Chattisgarh 2.1966

C. Chandigardh 3. 2000

D. Meghalaya 4.1963
A B C D

a. 1 2 3 4

b. 4 2 3 1

c. 4 3 2 1

d 1 3 2 4

e. Answer not known

QUTHHHIS:

LomBlevmIseT /  uyLd ® (HOUTHBLILL L SLe0I(H

A. BIEH6OTHS 1.1972

B. gl eendsit 2.1966

C. gFewngsit 3. 2000

D. Gusmeowir 4.1963
A B C D

a. 1 2 3 4

b. 4 2 3 1

c. 4 3 2 1

d 1 3 2 4

e. allemL  OFfwalsvensv

Which of the following is true about the constitution of India?
a. Adopted on November 26, 1949 and enacted on Jan 26, 1950
b. Adopted on Jan.1949 and enacted in Nov 26, 1950

c. Adopted an enacted on Jan 26, 1950

d. Adopted and enacted Nov 26, 1950

e. Answer not known

BphsHw QIrFwevsmiolil LUBM SDHERILIBBIGT 615 2 6wIeniD

a. paubuT 26, 1949 &0 gmmisOsTaTeniILl (B 2etaufl 26, 1950 &L L IoTHSLUILL L G|

b. ;gameufl 26, 1949 60  gmmIBOBTETEMILLH  BeubUT 26, 195060
FLLIDTSHSLILLL S

c. meaufl 26, 195060 gMBISHOBTeTOMILL (B FLU L DTHSILIL L S

d. meubuit 26, 1950 60 GBEMISCBTETEMILLH FLLIDTHBLILIL L S

e. aleL OFflwalevensy
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The Sixth Schedule of the Constitution is applicable to the States of

1. Assam 2. Manipur 3. Nagaland 4. Meghalaya

5. Tripura 6. Mizoram 7. Sikkim 8. Arunachal Pradesh
a.1,4,5and 6 only b.1,2,5 and 6 only c.1,3,4 and 5 only

d. 1,4, 6 and 8 only e. Answer not known

SIFFWIEVOLILNET DEBTEUFH DI L GUNGILITEISHI  CUT(HHHHIIQUI  LOTHIGOMRISH YT 6160

1. ®jervenmbd 2. DG 3. praTeLThE 4. Gusmeowlr

5. FHifiygm 6. 10GFmyLD 7. Fla@b 8. SImewim&FeullgGamaid
a.1,4,5 wwmmib 6 b.1,2,5 wBygib 6 c.1,3,4 wpp 5
d.1,4,6 wnmpwn 8 e. alenL Oxflwalsvenev

By which of the following amendment was Union Territory of Delhi
redesignated as the National Capital Territory of Delhi?

a. 67th Amendment Act, 1990 b. 68th Amendment Act, 1991

c. 69th Amendment Act, 1991 d. 70t Amendment Act, 1992

e. Answer not known

abd FLLHMBSSD L welwer LIg6asaiomer &Heved CaHFll HemevbsT FHe06
6le0l LoMMID GaFwiwiiu’ L g)?

a. 67 FLLA®mGBSD 1990 b. 68aug FLL Hmebsid, 1991

C. 69auzg FLL HHSHD 1991 d. 706ug s HmIHHid, 1992

e. allenL  OFMwalsdensv

Assertion [A]:  Indian Constitution is a rationally deliberated moral

document.

Reason [R]: Indian Constituent Assembly was a site where different interest
groups debated for a negotiated settlement.

a. [A] is true but [R] is false

b. [A] is false, [R] is true

c. Both [A] and [R] are true; and [R] is the correct explanation is [A].

d. Both [A] and [R] are true; but [R] is not the correct explanation of [A].

e. Answer not known

@Bol [A]l: uessPa e alaTHsaIUL QT QUPBIG (WewB DeleiG @bl
SIFFWevemlIF FLULID SYGLD.

asmyenid  [R]: uebBouml &mSGEHIMLW  GUEE6T  dnlgdh  BVHGH NeITHHHIS

SRBEHHGH6T QT @UUHSHMS 6wl AL G GhsHw DPdwed DemliLF
FOLIUWLITGLD.

a. [A] o _awienn; syemed [R] seums

b. [A] seum; eemed [R] 2 _ewienio

c. [A] wmmid [R] @rewiGGr &f; oisai e [R] aemg [A] albarer afluimen
6 &BLOT(G)LD.




d. [A] wBpid [R] SresiGo &f; eyemmed [R] eeug [A] albarer  afwime
A6 EBLDTHTFH.
e. allemL G Mwealsvenev

With reference to preamble of the Indian constitution, consider the

following statements:

1. It contains summary or preface of the constitution.

2. It clearly implies that the constitution derives authority from people of
India.

3. In Kesavananda Bharati case, 1973, supreme court proclaimed it as an
part of constitution.

4. It is justiciable in court of law.

Which of the statements is/are not correct?

a.1and 2 only b. 2 only c. 3 and 4 only

d. 4 only e. Answer not known

@;F,Q)‘Wm SITFwevemLoliien (pHemy GBS Llleireu(hLd FDDIBMT SIS,
Bz SIFwieoanolIlen Si(HoHHD DleVeVH FTITDFHMBHE OlBTEIL .

2. Bz @hHu  opFlwevenoli]  HAGH < DHBMIHMSH  EHBETLLO(HHS
OupimsS CBallaUBSBISBS!
3. 1973 Gasgouepbs LM alIpHPHe0, 2 FFHIHIOGBD Dend  DIJFUIe0enLOLILN6s

USSUWITS BTSS!
4. ®g HHOABHHD UPSHPHI B HENEUBTLL S &nlgUi.
GuBaapiwl FBEIBeafled HaupTerdl/ el 6/ eleneu?
a. 1 wBmb 2 1 Bib b. 2 w @G C.3 BmIb 4 Wl (BIb
d. 4 @b e. alewL Oxflwalsvenev

Whose prior permission is needed to introduce a bill in the Parliament for
the reorganization of States?

a. Chief Minister of the concerned State

b. Governor of the concerned State

c. President of India

d. Rajya Sabha

e. Answer not known

LOTHIeVMmIGBETET  LOBIFTEMLOLILISSTE LDEFTHTeme [BTLTEHLOGIBSHH 60 SHTHHe0 GlFuiul
WIMHeDL W (P61 SIenIng) CHemeu?

a. FUBSILLL LOTHIED (LP&HeLeUT

b FbubsiULL 0OTH SLEHbB]T

c. @pFu gamgug

d. greqwieur

e. ugled OFFuwalsvensv
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Match the following with correct options.
A Chairman of drafting committee 1. T.T Krishnamachari
B. President of constituent assembly 2. Prem Behari Narain Raizada

C. Vice-president of assembly 3. Dr. B.R. Ambedkar
D. Calligrapher 4. Dr. Rajendra Prasad
A B C D

a. 1 3 4 2
b. 3 4 2 1
c. 3 2 4 1
d 3 4 1 2
e. Answer not known
QUIT(HSHSHIS:
A. auere)d GUpaleT HeneveUT 1. T.T &madewiordamy
B. 9pdlued semioli] siemeld sHenevauT 2. LN1GTD OQuemf mrgmuieer Cyuismm
C. olmauuiler Hienend HeMeVaU 3. Dr. B.R. ou@ugamit
D. eugeusmintimen (oiydluieventoriL]

FLLSHMS 6I(1LDSHUIGUT) 4. Dr. gn@xialy gans

A B C D

a 1 3 4 2
b. 3 4 2 1
c. 3 2 4 1
d 3 4 1 2
e. allenL  OFfluwialsdensv

The cases relating to preamble are

1. Berubari Union case, 1960.

2. Shankari Prasad case, 1951.

3. Keshavananda Bharathi case, 1973.

4. LIC of India case, 1995.

a. All are correct b.1, 2, 3 are correct c. 2, 3,4 are correct

d. 1, 3, 4 are correct e. Answer not known

(WPSLILeDT OCIHTLITLTET ULDSHE 6.

Qurumfl uyeflwest eupd@, 1960

gmisll ygns eupdhg, 1951

Caxaauaibd LMTSH aUpHE, 1973

LIC g0 @pAHum aupds@, 1995

SIMAHHID Ffl b. 1, 2, 3 & c. 2, 3, 4 gl
.1, 3, 4 g e. alewL OFfluwaiedensv

O K L=
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When did the constituent assembly resembled after partition of Pakistan, as
the constituent assembly for the remaining India?
a. 14 August, 1947 b. 29 August, 1947 c. 15 August, 1947

d. 9 December, 1946 e. Answer not known

urdHlerogrer  Llflalenerdb@Gll  LleTenT LOgpeTen  EhSWTaIBSTE  OIFFUIeuenLolL]
BT F6ML Fnlgul BTG’

a. 14 symerol 1947 b. 29 symerdl 1947 c. 15 omerdl 1947
d. 9 wauT 1946 e. alewL Oxflwealsdenev

Assertion (A): The 42nd Constitution Amendment has been referred to as

the ‘mini constitution’.

Reason (R): It was the bulkiest and most comprehensive amendment.

a. Both A and R are true and R is the correct explanation of A

b. Both A and R are true and R is not the correct explanation of A

c. A is true but R is false

d. A is false bur R is true

e. Answer not known

amppl (A): ekl SPFMWLILS HHHHF FLLID @ GBI DFFeLIL"  eT6iml|

GSBIUILLUGHBGI.

smyenild  (R): oidswrer  aldsenen QBTG  @(HBRISMeTSHLIILL L H(HHHF

FLULID

W. MoIb, &TJewild FHWTEImeaISeT UG, STJeNID FnBmicbaTer  Filuimer
a6 BLOM(G)LD.

9. SMBBID SIFeI(PD  FHWTHIENSEMTGID. DLETT6D HMJeID FnBenm FHUWITSH
allendHalle0enev.

© .&mMu il LeTmed STFewID Haum

Ol FnBml SHOUMI DLETTEL HMJenrd &l

b. alewL G flwealedenso

Who among the following headed the order of Business Committee?
a. ].B. Kripalani b. Sardar Patel c. B. Pattabi Sittaramayya

d. K.M. Munshi e. Answer not known

WIT(HEmL U $HeD6VeDIOUTE) DIGVIIED (LD DIEDLDSBLILIL L 17

a. Ox.19. Smutenel b. girsmm LGV c. Uulrmi Fgmymenouiwim
d. Gsm.erb. (Weiia e. alewL Oxflwaisvenev

Match the following;:

A. USA Constitution 1. Removal of supreme court Judges

B. Weimar constitution of 2. Suspension of Fundamental Rights
Germany during Emergency

C. British constitution 3. Single citizenship

D. Irish constitution 4. Nomination of members to rajya sabha

A B C D




B1.

B2.

a. 1 2 3 4
b. 2 4 3 1
C. 3 1 4 2
d. 4 3 2 1
e. Answer not known

SIS UMBenBLI  CUIT(HEHHISH:
A. 90iféss oflusd grgeaid 1. o FFphFHwas bLHuHsamer UHIUNGI(HHS

bSSID (LD

B. Osgmoeiulesr GeuuiioT 2. OBMmeaY STEVHHD QiDL DTSluIed

FMGF60ILD ® Menlsdemen  HmIhHeneidFHe0

C. Ol ead opdluisd gFraemid 3. BB Glujflenio

D. ;fled opdluied graeibd 4. unymEpLSIBHHeT Gevenelds@ LINTSHIH H &6l
[BILILDGOTLD

A B C D

a 1 2 3 4

b. 2 4 3 1

C. 3 1 4 2

d 4 3 2 1

e. alwL GFHflwaleoensv

Which amendment inserted the word “Socialist”, “Secular” and “Integrity”
in the preamble?

a. 44t amendment act, 1978 b. 42nd amendment act, 1974

c. 42nd gmendment act, 1976 d. 1st amendment act, 1951

e. Answer not known

Ueteumld  6hd  FLLAHBSSD  (paliyemgulled  FOSHTOW,  HEFFTTLN6ITEnLD,
Q@(HEDLOLILTH 6IaIlD aUTTHmBHMWF CFTHHHI?

a. ezl FULHmSSHD, 1978 b. 426ug FULHmIHHID, 1974

C. Reougl FULHHSHD, 1976 d. leug s Hmbsbd, 1951

e. alewL O flualsdenev

Which of the following are the limitations on the sovereignty of Indian
Parliament?

1. Fundamental Rights 2. Judicial Review

3. Federalism 4. Written Constitution
a.1,3and 4 b.1,2and 3 c.land 2
d.1,2,3,and 4 e. Answer not known

s  OsThdbaLIUL(helTemeuBmiel  @bhHUl  LTTTEHLOGIBSH 6  EenMUIT6RTeNLDHE)
9 616 GUJLDL|B6IT

1. ogliuenL. 2 flenlnsmeir 2. BAHLIYewIITUIR
3. Gul LT 4l 4. elPSILLL  SIFFUIeOmLOLIL
a. 1, 3 pyb 4 b. 1, 2 By 3 c. 1 wBp 2
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B3.

B4.

B5.

B6.
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d. 1, 2, 3 wBmb 4 e. alewL Oz fuwaledemsv

In Indian Constitution ‘Secular State” Mean

1. State Protects all religion equally

2. State shall not uphold any religion as the State religion

3. Secularism is the basic structure of the Indian Constitution
4. State neglect all religions

a.1, 2 are correct - 3, 4 are incorrect

b. 2, 3 are correct - 1, 4 are incorrect

c. 1,2, 3 are correct 4, only incorrect

d. 4 only correct, 1, 2, 3 are incorrect

e. Answer not known

OhFHW DITFWevenIOLILTed Floul SFTTUBB UTTHMSUIET DITHHLD 616316017

l. O SIMBHSDH DSHHIBHM6N HTHH GBS

2. b DG 6HFH WHHMSWD SHONUTH 2 WITHHHInL TS

3. Fow FTiump elaiB 0gmed SIFFuIevenlILNeT DIQUILEDL &L L DLOLILTGLD.
4. OIIF SIMINSHFH LOHHIBMETUID LB HS B

a.1, 2 gfl — 3, 4 oy b.2, 3 #f — 1, 4 sam

c.1, 2, 3 #fl — 4 ' B> Heuml d.4 w @b af, 1, 2, 3 Heuml

e. allewL  OFflwalsvensv

The Central and regional governments shall be independent of each other
within a sphere’ said by
a. Dr. Wheare b. Dr. Ambedkar Dr. Rajendra Prasad

d. Dr. Ivor Jennings e. Answer not known
‘@ BTLIQET DHSHUI IOTHED DTFHFH6T DIGHG  616VM6VHGLLILB  aTmIS0BTaIH|
G SHHSITLOTERTENEUBTGHLD 6160 FnpSluleui

a. Dr. alwir b. Dr. oubBugast c. Dr. gn@xpaly 1ysms

d. Dr. &Geunit Qegeseimidserd e. alenL Gz fuwealsvensv

Who Stated, “Indian Constitution is first and foremost a social document?
a. Granville Austin b. Pylee c. Motilal Nehru
d. None of the above e. Answer not known

“@hHu DITFUIEVMIOLIL, (IPSH60 OBMID (LPSHETEDIOWITSH, (hH FPdH DLEUGILOTEGD”
oTeidh  Smmlwleu wimr?

a. Hreiialed SLerOIge6s b. enuiel c. Guorgleumed Gr(H
d. GuBammniul 61HIa|H606m60 e. el OFHMuwialevensv

The concept of 'Judicial Review' was borrowed from

a. UK Constitution b. USA Constitution

c. Weimer Constitution of Germany d. Canadian Constitution

e. Answer not known

"B Uewignule]” &(HoHSHI(H SIFFwesmOLILNe0(HH&I GUIBLILIL L G).




B7.

B8.

B9.

a. @RISe0THH DIFFUI0ENLOLIL] b. 90wfés Syfuisveniori]
C. OeuuioT GeToell ©JFFluieuenLorL d. st gduieventoliy]

Who said, “The Constitution of India was framed by ransacking all other
Constitutions”?

a. Pandit Jawaharlal Nehru b. Periyar E.V. Ramasamy

c. Dr. B.R. Ambedkar d. Ivor Jennings

e. Answer not known

“@hIHu SFFmoL FULITEIE LB gl FULmseled SmbaH EemuTy
QauIWtILL L &I 6Tel dnmlwleul wimiT?

a. uewigl. MeuamiTevTed Gh(H b. Quflwn .Qeu.grogmi

c. Dr. B.R. oubGugait d. =:Gautm eitelimierd

e. allemL  Oxflwalsvensv

Which is/are not the Federal Features of Indian Constitution?

1. Distribution of Powers 2. Flexibility of Constitution

3. Integrated Judiciary 4. Rigidity of Constitution

5. Supremacy of Constitution

a.2and 3 b.4 and 5 c.3and 5

d.1Tand 3 e. Answer not known

LetaumeuctauBmieln 6igkl / elemel BbAul SIFuleventoliien dnl L & SIDFBIGe6
606V

? SIHBTTLILS|T6 2. opFwevemiolilen GBSIDe| HeTenLD

3. QRHEISMMIHS HHHIHIEnD 4. opFlweveniolien GBSITSHSH6TENLD

5. 9dFeowentoliliein GLoeomsdbaLd

a.2,3 b.4,5 c.3,5

d.1,3 e. alewL Oxflwaisvensv

Choose the correct statements

I. The Twelfth Schedule of the Indian Constitution has 18 matters
related to Municipalities

II. The Eleventh Schedule of the Indian Constitution has 29 matters
related to Panchayats

III. The Seventh Schedule of the Indian Constitution has the laws related
to land reforms

IV. The fourth Schedule of the Indian Constitution includes the
provisions relating to the administration of schedule areas in the
states of Assam, Meghalaya, Tripura and Mizoram

a. L, II, IV only b. I, III, only c. I, Il only

d. All of these e. Answer not known
gllwnend SmBBIGeNeNsd HT6wIH

15 | Page PH: 044 - 24339436, 42867555, 9840226187




10.

11.
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L. b SITFWIGLEMLOLILT 60T L165T60T QI 600TL_TeUG| DI LN GRTULITGIS
BBITLFH6T QHTLTUTET 18 SHHUICUTHL Semem CeTami(heTend

II. @b I Flute0emLOLILT 63T LIS ClenTeiTBTeUG DI L 6Uen6ewTLIToUS||
UEhFTWSHFHISSH6T CHTLTUTET 29 S(HLGIUTHL BeneN 6HTeul(heiT6eN)
III. @mhaHu ST FUI60EMLOLILN 65T JIOTRUG I L 6)Em6mTUITGTH)

BeVFFTHH(HHSMIBET OHTLTUTERT FL L HISen6T O&HTeml(HeiTengl

IV. @psdwu opdflweosmwoliniesr  BTardsTald DL QIDETWLTEIEH  SIGrOeITLD,
Guasmeowim, giflygm  o@dmud  WGFTFD  eHul  ITHlevmIHeTNe0 @ 6iTen
ulguwedLliu’ L. u@dHselet — HiTeuTdld — CQFHTLTUTET  6UMSBUIBISE6I

AL ECRLRLE
a.l,II, IV wl @b b. I, III, w1 Gib c. L II G
d. Bmal SMRIHSHID e. alenL  Oxflwaiedenso
Match the following
Subjects Source constitution
A. Concurrent list 1. French
B. Republic 2. South Africa
C. Election of members of Rajya Sabha 3. Australia
D. Joint sitting 4. Canada
A B C D
a. 4 2 1 3
b. 4 1 2 3
c. 1 3 2 4
d 3 1 4 2
e. Answer not known
CQUTHHHIH
LI&H S BH6iT PGV SITEFUIeVEMLOLIL]
A. Qurgiiuiguied 1. 1OyEha
B. guurs 2. Oz esTeamI o s
C. grggw gur o _pmiidenT GaiTHev 3. 9Ler0gHGredwim
D. sl (b 9iofe) 4. HeoILm
A B C D
a 4 2 1 3
b. 4 1 2 3
c. 1 3 2 4
d 3 1 4 2
e. alemL O flwalsdenev

The Minister is the one who can do anything special?
1. Selecting the appropriate weapons for action

2. Doing the work at the right time

3. Knowing the type of method




12,

13.

14

15.

16.
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4. the difficult undertaking

a.1,4 b.1,2,4 ¢2,3,4 d.1,2,3,4 e.Answer notknown
aemd FBULmLWF OFUILIEIE0E0MIET DIGDIDFFET HLEUT6 !

1. Gewasg o flu smalsamen GCHiIbHoHHBSHH6M.

2. QFwemev gMM HTeLHH6L CFUIHEV.

3. GFwWemevsF OFUILID 6IMSWLINSSH60.

4. oflwF CFweLsmen OFUIHI (LPIY&HSH6VL.

a.1,4 b.1,2,4 ¢2,3,4 d1,2,3,4 e oL Gaflwuailedamed

The fixed qualities of a minister are

1. possession of firmness 2. Protection of subject 3. Education

4. Knowledge 5. Perseverance

a.1,3,4 b.1,3,4,5 c.1,4,5

d.1,2,3,4,5 e. Answer not known

sTemaUBemerLl GQUTHHSL CUBBIHLILMGCET DIEDIDFFET HLEUTET?

1. QFwamIg 2. &l9BLiemre0 3. @eval

4. oMley 5. pwid

a.1,3,4 b.1,3,4,5 c.1,4,5
d.1,2,3,4,5 e. alenL Oxflwalsvenev

Far better are crores of enemies (for a king) than a minister at his
side who intends (his) ruin.

a. one b.seven c.seventy d. hundred e. answer not known

SHUBTeT aUPlenul eTewienidh mBIBGIB DiWDFFMDAIL  THHme BTy LIeHB6I]T
UHBHHL BYHHITEID HETENLOWITEGLD?

a. @ b. gap c. eipual d. Eprm e el GOFflwaledemev
Power of speech under comes chapter

a. 63 b. 64 c. 65 d. 66 e. Answer not known
CFT6VUGITENID HIFHBTT 616001

a. 63 b. 64 c. 65 d. 66 e. alewL G fwalevenev

A the right is greatest gain,

It stands alone midst goodly things that men obtain.

a. purity of heart b. benignity

c. mental health d. tongue that rightly speaks

e. Answer not known
GIGITEMILD  [HEVENIENL_6MLD  SHHEVLD
WIMBHeVSHSH! 2 _GITeNHITD D BIETIW)
a. LDSMHSHITUIENLD b. ®emi@emrm L b C. LDGIHEVLD
d. mrpevid e. alewL Gz flwealsdensv
Make your speech; for superior to it, there is neither virtue




17.

18.

19.

a. virtue b. wealth c. heaven

d.aandb e. Answer not known
OgTeveuaiTemOmUWIILF FBbHS £)606m60
a. SIBIPLD b. Qumrmempbd c. ai®w

d.a oppb b e alewr Gxflwaisdensv

vaetpaththaanhj chollip piRarsol payan-koatal
maatchiyin maasatraar koaL

In this Kural the term Vaetpu means

a. desire b. untruth c. truth

d. knowledge e. Answer not known

Goul LS TEh GFTeLeII LIBTEFTEL LIWIGTGHTL 651

LomFullesr omammrT GHmer

a1l GHMerlled aumHD “Goul’L]” eTaiB OlFTeL6VI6 GILIT(H6IT 6T60T60T?
a. el b. Qumul c. Guul

d. epreid e. alewL Oxflwaisvenev

What are the qualification of an ambassador?
a. affection for his relations

b. a fitting birth

c. the possession of attributes pleasing to royalty.
d. All of these

e. Answer not known

SMH 2 _MILILIMIML Ul HSHHH6T WiTeneu?

a. SO FMBSBHMT ML (H  DIEOTL|6MLUIGUETFHEV

b. s@dHuner GQLIBLIL 2 ML UIaI6TH6

C. OUFT al(pyD FBbHSH LWL 2 6DL UIGI6TTSH60
d. Bme SEmaTHHID

e. alewL GFflwealevensv

What are the three essential characteristics of an ambassador?

1. knowledge 2. Love

3. Power of speech 4. Baseness

5. not to dread the council

a.1,3,4 b.1,4,5 ¢1,2,3d.1,2,3,4,5 e. Answer not known
STH 2 _ILILeITHE G&@SIWeDIOUITS LIRILS6T WTenel?

1. 96y
2. OleiL
3. QTUIhgl GFTEOHSIMB GFTeL6IGTENLD

4. SWemLd

5. SIMeUWIEhTFTENLD

a.1,3,4 b.1,4,5 1,23 d.1,2,3,4,5 e alo. Gsfluweailsiamsn
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He may go on a mission (to foreign rulers) who has combined in him all
these three:

a. natural sense b. an attractive bearing

c. well-tried learning d. All of these

e. Answer not known

UMMl CUT(HHSHID 2 _ewL WeleT HTH 2 mISGLD CFHTHeIGHE 6F606060MD?

a. QuBHmd N6 b. elmbuSHHS CHTHBHBID

C. ITUIFF 2 L uwdb SHeval d. Bmal SEMaTHHID

e. alemL g Nwalsvemnev

Which State has emerged as the country’s top electronics exporter in the
financial year ended March 20237

a. Karnataka b. West Bengal c. Maharashtra

d. Tamil Nadu e. Answer not known

& 2023@60  (PIYaIMLHS HIHWTEmNged 6lhd  LOTHIEVD BT 196  (LPEsT6areul
OleiTadTam GBMILHWTONITES 2 (HoleuBHIHIeNTeNSHI?

a. SIBML&GLD b. Gum@ eumisD C. LDSBMITAOJQTLD

d. swpBTH e. alewl Oxflwalsvenev

Tamil Nadu’s first flying training school approved by the Flying Training
Organisation (FTO) is situated in?

a. Salem b. Vellore c. Dharmapuri

d. Chennai e. Answer not known

upd@b uvlBd  oemwiured  (FTO) omgsflssiulL  sopssHer (a0
UBSGW LulBAl ueiel e1g?

a. Ggevld b. Geugurit C. &moyf

d. Qseiene e. alenL Oxflwalsvenev

Which state/UT introduced the country’s first ‘Police Drone Unit’?

a. Kerala b. TamilNadu c. Karnataka

d. Rajasthan e. Answer not known

BILIQET  (p&Hed  BumeSerd LU Gymest  weilenl’  omlupaslu@Gshdu  rmBleod/
weflwesr Lp@spaid e1g1?

a. Gamyenm b. sW0WHETGH C. SBTL&HID

d. ®ymeerva e e. alenL Oxflwalsvenev

Honour of Dead Body Bill-2023 is passed by which state?

a. Tamil Nadu b. Rajasthan c. Maharashtra
d. Karnataka e. answer not known

amrerT & .0 QL umg 1wBaradT 2023 HleowmGaummliul TBlevd 61&I7?
a. SOWDHTH b. @yregerogmeit C. LDBTITAMUQLD
d. sTpIsb e. alewL Gz flwealsdensv
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Which is the first state in the country to pass a law to provide social
security to gig workers?

a. Kerala b. West Bengal c. Orissa

d. Rajasthan e. Answer not known

Hd  CFHTPOTNTHEHHEG &Felpsd UTHISTUL  aUpmES FULID QuiBpslul BT 1ges
(PSH6V LOTHIeVLD 6117

a. Gayemm b. GuoB@ eumisD c. @flgm

d. @yreervgmest e. alewL Ozxflweaisdenev

The first Indian city to be part of the World Cities Culture Forum (WCCEF), a
global network of cities is

a. Bengaluru b. Chennai c. Thiruvananthapuram

d. Mumbai e. answer not known

o s BpaJuselear seordany weamsHHar (WCCF) @ ugdhurs Bmésh

W& BHHUW BSIID DS ID.
a. OUIRIGEH(H b. Qgetene C. FmaURTHSLTID
d. @pbenLi e. alenl Oaflwalsvensv

National Sickle Cell Anemia Eradication Mission aims to eliminate sickle
cell disease by the year?

a. 2035 b. 2040 c. 2047

d. 2050 e. Answer not known
Cxpdlw ofleumel GFed @ArHd Gamems @I Buissd, SifleuteT OFed GoTenuwl|
ahd DUMIBIGH6T RIS CHTHawTed OBTemIheTeng?

a. 2035 b. 2040 c. 2047

d. 2050 e. el OFflwaiedemev

Which state launched the ‘One District One Sport” scheme?

a. Odisha b. Gujarat c. UttarPradesh

d. Himachal Pradesh e. Answer not known

6ib& LOMHIeVD ‘@ mall L @ alewenwiml B’ FHLHmsd DNSpsIUGSHHUWISI?
a. QAT b. &5 c. 2 FnilyGsaid

d. Buwrdger gCmaid e. alewL Oaxflwealsdenev

PM SHRI scheme is associated with which field?

a. Sports b. Education c. MSME
d. Women and Child Development e. Answer not known

PM SHRI Sl Lib 6hbs HledBUL 66T GSHTLTLML WighI?

a. elenemwim b. sevai

Cc. ®m, Fmy BphHHHy CFHTH6e0 d. QuemiseT WHBBID GPHMBHH6T GODLIT(H
e. alenL Oaflwalsdanev




The New Swarnima Scheme for Women is related to?

a. Education b. Employment c. Loans

d. Marriage Assistance  e. Answer not known

QUERTHEHGHBTET LFHUI rO6UTENOT S LD 6IHIL 63T OHTLTLenL UgI?
a. seval b. Geauensveumuiriy] C. BLGIB6I
d. Hmwewr o _sai e. alenL Oxflwalsvenev

The new eligibility criteria and rules titled ‘Guidelines for Designation of
Senior Advocates by the Supreme Court of India, “2023’, will replace the
earlier guidelines issued in?

a. 2018 b.2019  ¢c. 2020 d.2021 e. Answer not known

ugw  segl  wpgld et  "@hPHw 2 &5 BIHOABESTO WS
UPSEBMlEhTHemen Hlwlend OCFuieugmaTer ST (hHevHeT 20237, 860
QUPRIBLILL L (phenSWl aUPBTL BHe0SHEHHGL LFHe0TdH B (HHEGLD.

a. 2018 b.2019  ¢c.2020 d.2021 e.alenL Qzfwealevenev

Which country is organising the UNSC’s first ever meeting on threats of
Artificial Intelligence?

a. India b. Australia c. UK

d. Germany e. Answer not known

CFwBensd Hlewewisle] FFHEBISHOHNM GBHd UNSCuilem (pmHed gnl L Hand
abd BTH gBuTh OFuIsBg?

a. @pgHur b. @ervdGyeduim C. @RIFehHl

d. Gggmpesd e. alewL Opfualedemnsv

Which country currently holds the title of the world’s most powerful
passport according to the Henley Passport Index?
a. Japan b. China c. Singapore

d. India e. Answer not known

Gameited LmerdGUTTL. GMuil e LY o evdler WSab FoEHeuTwihd LTeroCUTTL
aeip UL SHemd SBOUTH ebd BTH Olemenihereng?

a. QUILIT6IT b. Fer c. Fmisli,T

d. ®pHuir e. alewL Oxflwalsvenev

Which country has invited Indian Prime Minister Narendra Modi as the
guest of honour for its Bastille Day celebrations?

a. Norway b. Sweden c. France

d. Germany e. answer not known

LUTerdiged FHal GaTemiLm LSHHBG @hHw Ursw] mBCIhaly Gomgemus Osenyeu
alphHTE DLSS B1G 6157

a. mrGeu b. evaiL e c. Uymesd

d. Gggmoend e. alenL Oxflwalsvenev
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Which two countries have initiated trade transactions in rupees to reduce
reliance on the US dollar?

a. Indian and Bangladesh b. India and Sweden

c. India and Srilanka d. India and Vietnam

e. Answer not known

oIOwfds Ly HOLLIWIGBLILMmSS GOBUILSBSTS 6hH @Fenih  BTHSH6N
AUTHBHS UFleUTHHmeTHemeN HLTUNIED OGHTL MIbIU|6IT6rT6er?

a. ®@bHwm wBpd aksBhsd b, BhAul wHBEID eroei el

C. @bHWT LBHBID Bevmend d. ®@baHwr wBpId elul’ BTbd

e. allewL Oz Mwealedeneo

The Simple interest on a certain sum for 3 years at 14% per annum is Rs.
235.20. The sum is?

R OxTesular Hol aul'ly 3 eiBsendd 5h.230.20 Guoebd ey eisd
14% etafled ©IHOFHTEnBHUNEHT DFHIL]?

a. Rs. 480 b. Rs.560 c. Rs.650 d. Rs.720

Mr. X borrowed Rs.5,000 - on 7th of June 2006 and returned it on 19t
August 2006. Find the amount he paid, if the interest is calculated at 8%
per annum

Hm X ool 7.6.2006 oemm X 5,00008 SLammall QUBp Send  19.8.2006
OIFBI H(HL OFISH T SpamigBG 8% eiHD eIl 19 HVIGHLLILLLTEL D6
CFIHHUI CHTenD 6l6iI6U6T6Y?

a. 35140 b. I5080 c.X 5210 d. 35280

A certain sum of money amounts to Rs. 10,080 in 5 years at 8%. Find the
principal

a. Rs. 7,200 b. Rs. 7,000 c. Rs. 7,300 d. Rs. 6,200

@ GEUILL Oxtenswrad 8% el aiesdHled 5 oewiBseilsd ¢mh.10,080
HBBH. DIFN6VDH HT6HIH.

a. 5.7,200 b. ep. 7,000 C. ep. 7,300 d. ep. 6,200

A person borrowed Rs. 2,500 from two money-lenders. For one loan he paid
8% per annum simple interest and for the other he paid 6% per annum
simple interest. If he paid Rs. 180 at total interest for one year, how much
did he borrow at 8%?

QHeUT 5.25008 @yewi® CuisealL(BHEH SLMS CUBBICTOTTT. Q@ HLDISHG
8% oail algub, wBBEHHEG 6% salauid (AUGLIHST eully) BELD.
QTHHHH0 @T opewiBh@ h.180 eau'puins CaThHaTe0, 8% e 19dHE
QUTRISIL &L 63T 6T61I6U6TT6Y?




/0.

/1.

/2.

/3.

/4.

/5.

a. 1,000 b. 1,200 c. 1,300 d. 1,500

A sum of money at simple interest amounts to Rs. 815 in 3 years and to 854
in 4 years. The sum is

a. Rs. 650 b. Rs. 690 c.Rs. 698 d. Rs. 700

Rh OFHTens SHaolall lguiled 3 aumLSHHe0 hH.815 FHBH. DHGa, 4 aUHL HSHD
(h. 854 HIMBHI GIWIBTD DHFH OFHTNS 6T6lal6T6,?
a. Rs. 650 b. Rs. 690 c. Rs. 698 d. Rs. 700

At what rate of S.I Rs. 4000 will amount to Rs. 5,000 in 4 years?

a. 6 4% b. 6% c. 5% d. 6 %%

ah. 4,000 oueigH 4 pewihHened qh. 5,000 FBFH  6TeN60 SIS LI L
Saiaully aldHD wirgl?

a. 6 1% b. 6% c. 5% d. 6 %%

A sum of money triples itself at 8% per annum over certain time. The
number of years is equal to

a.24 b. 25 c. 20 d.12

THHMD  OLEIHE6T  (Iplgalled @ GO L Feorais 8% eailly aihshHed
CLPGOT]  LOL_MRIGITEHLD?

a. 24 b. 25 c.20 d. 12

A sum of money amounts to ¥5200 in 5 years and to ¥5680 in 7 years at

simple interest. The rate of interest per annum is

a. 3% b. 4% c.5% d. 6%

QM GUEUILL O0xTwsd Sl ey Dol ulled 5 ewihoHerisd  H.5200
BD T  ewihHeNe0  (H.5680 HLFQYD o WITHBH. PWIB QY  eiHD
616116)161T6)|?

a.3% b. 4% c.5% d. 6%

Mr. X borrowed Rs.10,000 from a bank at 6% simple interest per annum.
After 3 years, he settled the account. What amount did he pay?

A X ariueT, @ eumduledmbal . 10000 SHmd 6 % Hiau phE (W16
RAMBISHES) UTRISTT. 3 WIBHEHHESG LIBG, SLMEIUD DL HSHT] 6l6mev,
ST QFSHFHU CITHHSH CFHTend 61601607

a. 11,500 b. 10,800 c. 10,500 d. 11, 800

What is the sum, if the simple interest is Rs. 90 at the 6% rate of interest for
3 years?

6% ey aiHHHe0 cpAIH  UMBBEDEEG Salallly 5.0 eefed  DIF6
GTGURIGITGY.

a. Rs.1000 b. Rs.1500 c. Rs.500 d. Rs.750
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